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Objective Intermediate Part Second * ﬁ
Paper Code STATISTICS ( Objective )
BI85 Time: 20 Minutes Marks: 17 ' *
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the
Q.Mo.1 relevant circle in front of that question number on computerized answer sheet, Use marker or pen to fill the cireles.
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
‘*)E_ Questions A "B C D
i Any hypothesi_s which _is_tcsted for rejection Null Alternative Statistical None of
~ | under assumption that it is true is called: hypothesis hypothesis hypothesis these
2 | The point estimator of "p" is: X X b'e %
3 |1 E(8) =0 then Bis: Biased Uohtmed | Tearal | Tt
| iased these
4 |1f 6® =5and n=2then Gé is: 2 2.5 3 5
5 | A sample is regarded as a subset of: Data Set Distributi Population
6 | Any value calculated from the sample is called: Parameter Statistic Prapo Mean
.ﬁ i y=_‘.5x+ 10 and X ~ N(10, 25) then mean 50 60 6‘} 135
_jofyis:
8 | The mean of the standard normal distribution: 1 0 2
9 | The parameters of normal distribution are: W and § dq-:-! np and nq nand p
€l ; :
10 | One byte equals: A= W4'bits 6 bits 12 bits
] ! b e, ; Seasonal Cyclical Random
i1 | Increase in demand of ice is an example of: arlation e e SRR H
172 | Methods of secular trend are: 3 4 5
_*';; _lf the class frequency (AB) <@ tl 1 ey <t
is equal to:
In testing independenc: ingency
jd i T 1 2 3 4
table, the number of reedom in " is: .
15 | Correlati positively perfect if: Iy = yx r=10.98 r=-+l r=0
| = ; g o : : : Difficult to
16 | The two regipsion coefficients have always: Opposite sign No sign Same sign tell
17 | Ify =2+ 0.6x then the slope of line is: 2 2.6 0.6 Zero
1219-X11124-4000
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- Intermediate Part Second X £ RollNo.
' STATISTICS ( Subjective )
Time: 02:40 Hours Marks: 68 =C N — 37
SECTION -1
 Write short answers to any EIGHT parts. 16

(i) How much area of the normal distribution lies between p—2cand p+20 ?

(i) Write the equation of normal distribution N (i, c?).

(iif) If X ~N(25,25), find mean deviation.

(iv) Find Qi of a normal distribution whose mean () is 100 and variance (%) is 25.
(v) What is the relation between mean, median and mode of a normal distribution?
(vi) Interpret the statement: A 90% confidence interval for pis (48.4 , 56.6)

(vii) Describe point estimation.

(viii) Formulate the null and alternative hypothesis for the statement: “No more than 30% people pay Zakat”.
(ix) Define composite hypothesis.

(x) Give an example of type-Il error.

(xi) What is computer hardware?

(xii) Define input devices in computer.

 Write short answers to any EIGHT parts. 16
(i)  Define complete enumeration. :
(i) xpress the concept of “sampling distribution” of any statistic. o
(iii) 1fn=36and S.E(X)=2. Find S.E(X) if sample size is increased to 1%
(iv) A population consists of two values as 4 and 6. Draw all possi mples of sizen=3

with replacement.
(v) Write any two properties of sampling distribution of sgt ions (P).
(vi) What is the basic aim of sampling? @
(vii) Write at least 2 propetties of least square regr.si@ ny=a+bx.
(viii) Define the term residual in regression. \ :
(ix) If ¥ xy= 300300, ¥ x=5000, 2y=6 &—100 Find covariance Sxy.
(x) Define no correlation. h =
(xi) What is meant by product mc-m< ae' nt of correlation?
(xii) Given Y=11.8+2xand X; Sy find Karl Pearson’s coefficient of correlation.

_ VWrite short answers to an
(i) What is meant by
(1) Hn= 600, (A) 3
(iii) If A’sare 6

S. 12
of attributes?
- 970, what would be the value of (AB), if A and B are independent.
are 40%. Find percentage of AB’s if A and B are independent.
uency?
sistency of data.
principle of method of least squares?
(vii) Give the two examples of secular trend.
(viii) Describe any two disadvantages of moving average method.
(ix) Given X=1, ¥~ 2. Find the value of “a” if byx=2.

.-- SECTION — 11 Attempt any THREE questions. Each question carries 08 marks. :‘

5. (a)If X~ N(36,25) find median, mode, D¢ and Pe7 04
MIFQI=3,Q=10, findpand o of the normal distribution. 04

( Continued P/2)



6.

(a) Take all possible samples of size two with replacement of the population 2 , 2, 8. Show that
the population mean is equal to the mean of means of all samples and population variance

is twice the variance of samples means.

(b) A population consists of four values 4 , 10, 15, 20. Take all possible samples of size two
without replacement from this population. Find the proportion of even number and verify that:

SE(f) = -F;—‘T(

N-n)
N-1

Find 95% confidence interval for p

(b)For the given set of data, test Ho: =73 against Hy : p <73,n=15, ¥=70,5*=9. Use o =0.01
(a)Find regression equation of X on Y for the following data:

X 11s i 14)12 | 10
Y L1y | 17 | 16
(b)Compute correlation co-efficient between X and Y:
X1 4]6]1 Z
Y l8 1915 ]%F .
(a) Compute rank correlation coefficient from the following data:
X 4227161124147
Y |85](52]63[48]8.6

(b)Compute 4 months centered moving average for the

Year

Jan

Feb

Mar

Values

23

26

78

FSp—>b

. (a) A restaurant wishes to estimate the average amount of money a customer spends for lunch. A random
sample of size n = 36 is selected and the sample mean X=Rs. 12.40. Assuming ¢ =Rs. 2.4.
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